Matematika  1.B

Doplň číselný rad
0 . 2 3 . . 6 . . 9 10 . . . 14
10 . . . 6 . 4 . . . .
Porovnaj 
2    6                             10    12
8    4                             11    15
9    0                             13    8
7    7                             11    11
5    8                             10    4
Vypočítaj:
Peter                  13 áut
Janko                    5 áut 
Spolu                    ?
	
	
	
	
	


Spolu mali            áut 
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6 + 2 = 9 - 7 = 8 + 2 = 9 - 9 = 5 + 5 =

4 + 5 = 10 - 6 = 9 - 6 = 9 - 1 = 8 - 4 =

1 + 6 = 8 - 3 = 5 + 3 = 9 + 0 = 3 + 3 =

7 + 3 = 7 - 4 = 10 - 4 = 3 + 6 = 10 - 5 =

2 + 5 = 10 - 6 = 7 + 2 = 7 - 0 = 4 - 2 =


